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showing ALL your workings.

1 Evaluate the following; 37/8 +/37/8+7 %
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2 Use tables to find squares of each of this numbers
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4 Evaluate using tables ) 2
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(a) (0706 X20.5Y? s o' | (amks)
. 599 2 = A 604x/0c
/ U((;l']{)(\x’lo D _ ;‘
= 070k? x.zos ) = X069 4.
= (7’(‘ (x70~) tx (2 03 X1p ') N gzl or ‘
= 7. 6l ><<,L,") x 206 00" )2 Then M
— B Skt X 203 x0R)) = Q:t_(t'ﬁ:j_]ﬁ o
S A St N
(b)(23.512 X 0.7012 L, brerTe (8mks)
3.4 M"’/ M/ i
/\‘vaLILLV;_' -
(35)* x[¢ 701" Nl | é Soeml
A(:z %NJ) )\(% C/NL' l % = 2‘7/ im ;
=203 KV 0l /\/D N /
= 51623 x T = YZM«\
5 Express as a single fraction in its lowest form
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6 Which of the following ratios is greater?

(@) 2:3o0r 1: 4
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{b} 8 : 9 or 10 : 11 {c) 5:20r 20:17 (2mks each)
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9 Aman invested sh 36000 in two companies P and Q. P pays a divided of 11 %% while Q pays a
divided of 10 %:%. If from his total investment he obtained a return of 10 %%, how much money did

he invest in each company?
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f an arc of a circle is 9.42 cm. If the diameter of the circle is 10 cm, find the angle

10 The length o
subtended by the arc at the center of the circle (?.142) (3mks)
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11 A flower bed is measuring 3m by 1.5 m i surrounded by a path 1 m wide. Find the area of the
path. 3—M : 1 (4mks)
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'field in five days. How many days

12 Tree tractors each working eight hours a day can pi

would two such tractors working 10 hours a day take to plough the same field? (3mks)_.
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13 Find the perimeter of the following figure.

(3mks)
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14 In a quality control analysis 3.5 % of all parts of a machine were declared sub-standard. If there
{Amks)

were 72 sub-standard parts how many parts were analyzed?
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